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Uzivatel
Textové pole


No. [ LLmm] |Wmm]| T[mm]| Ste. | Colii
15751999 ]| 16 1 12/3
2 | 571|966 | 16 1 12/3
3 (1980|575 | 16 1 11/3
4 11980575 | 16 1 11/3
5 1894|571 | 16 1 11/3
7 | 475|571 | 16 1 12/3
8 | 475|545 | 16 1 12/3
9 [475 (55216 | 2 [2/3
10| 70 |966| 16 | 2 |2/3
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0 10 20 30 4 5 6 70

No. [ LLmm] |Wmm]| T[mm]| Ste. | Colii
12 11920(492| 3 2 |1/3
13198 |469| 16 | 3 |3/3
14120 |450( 16 | 3 |2/3
15| 120 (450 | 186 3 |2/3
16100 |417 | 16 | 3 |2/3
17| 458 |434| 3 3 |1/3
18 11888469 | 16 1 13/3
20 (1260|469 | 16 1 13/3
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